
https://www.pass4itsure.com/1z0-882.html
2024 Latest pass4itsure 1Z0-882 PDF and VCE dumps Download

 

 

 

1Z0-882Q&As

MySQL 5.6 Developer

Pass Oracle 1Z0-882 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/1z0-882.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

1Z0-882 VCE Dumps | 1Z0-882 Exam Questions | 1Z0-882 Braindumps                                1 / 3

https://www.pass4itsure.com/1z0-882.html
https://www.pass4itsure.com/1z0-882.html
https://www.pass4itsure.com/1z0-882.html


https://www.pass4itsure.com/1z0-882.html
2024 Latest pass4itsure 1Z0-882 PDF and VCE dumps Download

QUESTION 1

Which two code samples demonstrate valid methods for working with loops? 

A. DECLARE I INT DEFAULT 0; Test_loop: LOOP SET i =i +1; IF i> =5 THEN LEAVE test_loop; END IF; END LOOP
test_loop; 

B. DECLARE i INT DEFAULT 0; WHILE I 

C. DECLARE i INT DEFAULT 0; WHILE i 

D. DECLARE i INT DEFAULT 0; Test _loop; LOOP SET i =i +1; IF i >=5 THEN LEAVE; END IF; END LOOP test_loop; 

Correct Answer: C 

 

QUESTION 2

Cormcctor/Net supports a decoupled database connection mode, where a database Connection is 

established only when needed. 

\\' 

Choose the three parts that are involved when working with decoupled data. 

A. OpenConnect.MySql, DataTTiread.MySql, CommandExecutor.MySql 

B. MySqlQueryBuIld, MySqlQuerytxer. MySq I Query Results 

C. DecoupODBCConn, DecoupMyScjlruiiimanrt, DecoupMySqlRetum 

D. DataSet, MySqlDataAdapter, MySql Command Builder 

Correct Answer: D 

 

QUESTION 3

Consider the my_table table with these contents: 

You execute: SELECT 1 FROM my_table; What is the result? 

A. A single value: 1 

B. Two values: 1, 1 
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C. Two values: 11, 12 

D. Two values: 11, 13 

E. An error message 

Correct Answer: A 

 

QUESTION 4

Which condition must be true in order that a view is considered updateable? 

A. The user must have the UPDATE or DELETE privilege for the underlying table. 

B. There must be a subquery in the WHERE clause that refers to a table in the FROM clause. 

C. There must be a one-to-one relationship between the rows in the view and the rows in the underlying table. 

D. The view must only refer to literal values. 

Correct Answer: C 

 

QUESTION 5

An application packs several fields of information into the details column of the table sensors. The first six characters of
that data represent a location code. 

Example: "ABCDEFOO ooozzz comments will be here FIELDS----FIELD64" 

Given the query pattern: 

SELECT----FROM sensors WHERE details LIKE `ABCDEF 

Which three ALTER TABLE commands enable the optimizer to user an index for this WHERE patterns? 

A. ALTER TABLE sensors ADD KEY (details ) USING BTREE 

B. ALTER TABLE sensors ADD KEY (details) USING HASH 

C. ALTER TABLE sensors ADD KEY (details) USING BTREE 

D. ALTER TABLE sensors ADD KEY (details )USING HASH 

E. ALTER TABLE sensors ADD FULLTEX (details) 

Correct Answer: AB 
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